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1. wors il 2RPEd A1 W Seac! IR et
1x8=8
Choose the correct answer from the following :
(@) TR ARATE (A0 FIR @I TTO! TN (7

The moment of inertia of a solid disc
about its diameter is

.1 2 - 1

~— MR = 2
(i) 5 (1) 2 MR
S 2 . 1
i) = MR el 2
(iii) 5 (ly) 5 MR
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(b)

()

(d)

8P/149

(2)

Roepa®r orq 9w wgERr  @OR
FiReRN g :

Hamiltonian for a charged particle in
an electromagnetic field is

(i) H=%mv2-q¢
(i) H=qp-~m?
(it)) H=%mv2 +qd
(iv) H =%mv2 +qp?

@R & 0 T IR W ey

The dimensional f )
constant o js ormula of Stefan’s
@ [MT3k4

(i) [M T3k

@) [ML2T-3K]
- ) [MT3Kk)
CRTTINER, T T v

Generalizeq
dimension of

i) =
force

(@) Frf
work

(iti) Sz
Momentym -

No definite dimension

Coordinate hag the

(3)

() FFoM efimre I Tx@ TKI /I T,K &
*IRTeT =, O] W I TR

Work done for adiabatic process under
which temperature changes from 7] K to
T2 Kis

0 W=t (G-

@ W=~y

) W="o(r-1)
y-1

(iv) W=—7’f—1(Tz ~T)

(N =R GrFE / I/E [TEE DR Rege
| offRe v 2

Excess pressure (P) inside a liquid drop/
air bubble is

§ p=2
r

oo _AT
) P==

3T
o p_ 3T
(i) P==

w) P=L
(iv) P= .
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(4) (5)

2. o R I ol 29 TR 2%8=16
Answer any eight of the following questions :

(@) 2TR @Bre e W qw S txn

Internal energy of all molecules of a -

system is
() s () wwol T oo 2
kineti What is the significance of moment of
1etc energy inertia?
(i) s | -
: ; () md FIRAFT IR FAT THIW TRI™
Potential energy | STECH! ORI W 2 A
(i) AR e s Y ' ; State and prove the law of conservation
. both kinetj of angular momentum for a number of
. ¢ and Potential energies particles,
(iv) SRR e g

(0 TANT T WA J9R TR B9

None of th
e above Define holonomic and non-holnomic

: constraints.
™ ¥ Q i x®
Generalized force Q. is (d) O SIRF BT I F I
) . - I ) Describe the molecular theory of surface
35 .
G o i=YF. i . tension.
: i 9q ;
o [ (g P e s @ e B qme
(i) Q; = 2 3 o7 What do you mean by surface energy and
P E ., angle of contact? _
(i) 5 52 () R F I Radw A o o
L Qj =2F. .on
- i 9qj Define isothermal and adiabatic changes.
) R g mag . (g) TR AN S 7 comemer zw 2
None of the above Why are raindrops spherical in shape?
- 8P/149
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(h)

()

0)

3. (@

(b)

()

8P/149

(6)

ot R e R ™7
What do you mean by thermal radiation?
TIPS W SPrcafive T el forar |

Distinguish conservative
Conservative forces,

Y TS 2 W oo S f2 7

What is Poisson’ i
.. . S ratio? What e
limits of its varigtion? are th

DR o R TR

and non-

R®/RI (IO

WWWS{WW' 6i

Calculate the mqg
m S
spherical shel] ot of inertia of a

aboy . .
through the centre, tan axis passing

2+3=5

( Continued)

(d)

(e)

(9

(h)

iP/149

(7)

W BME (Y), THSA ITE (K) F 50
QT () I AP Sfeqea o .6

Establish a relation between Young’s
modulus (Y), bulk modulus (K) and

modulus of rigidity (n).
oo W AWET B2 e W v
MR crae GRET AT SIS FM1 1+44=5

What is the dimensional formula of
surface tension? Discuss the Jurin’s law
for rise of liquid in a capillary tube.

G 2fem ﬁ?%ﬂﬁm Rfen e IR
e 901 1+5=6

What is Carnot engine? Explain work
done for different strokes for it.

0-0168 cm ITRFER b1 TAC PR Twel
8-93mtaqﬁ:wvﬁwqéﬁq
305 dyne/cm W, (SGRTI S@{ WY
Ry 2 i weR AFH T 0°. 4

A liquid rises to a height of 893 m in a
tube whose diameter is 00168 cm. If
the surface tension of the liquid is
30-5 dyne/cm, then what is the density of
the liquid? Given, angle of contact is 0°.

215 @9 R R SRl Sfachr o | 6

Deduce Wien’s displacement law from .
Planck’s law.
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(8)

4. =1 R @ fBReR 5y G o

Write short notes on any three
following :

(@) "I wrEy Toyermg
" Paralle] axes theorem
() “Virtual work’s T
Principle of virtual work
(@ erafeRe /8y 5 |
Second law of thermodynamics

@ Pr-Rery o

Rayleigh-Jeans law
* ok %k -
Zf
}
{
J,
- 8P—6000/140 ‘
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